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Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Winter Examination-2015

Subject Name : Fundamentals of Pharmaceutical Industry

Subject Code : 4PSO01FPI 1 Branch : B.Pharm.

Semester : 1 Date : 02/12/2015 Time 10:30 To 1:30 Marks : 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Attempt the following questions:

a) Stoichiometry

b) Newton

c) Absolute Pressure
d) Calorie

e) British Thermal Unit
f)  Fluid flow

g) Manometer

h) Critical velocity
i) Pressure head

j)  Conduction

k) Convection

) Grey Body

m) Avogadro’s Law
n) Charle’s Law

Attempt any four questions from Q-2 to Q-8

Q-2

Attempt all questions
a) Discuss in detail Algebriac method.
b) Explain Simple manometer with the help of a neat labeled diagram.

Attempt all questions
a) Discuss Amagat’s law and their corollary.
b) Explain Orifice meter with the help of a neat labeled diagram.
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Q-4

Q-5

Q-7

Q-8

a)
b)

Attempt all questions

Derive an equation for heat transfer by conduction through compound resistance
in series.

Classify different types of glass used in pharmaceutical industry.

Attempt all questions

Discuss in detail non-ferrous metals used during construction of pharmaceutical
plant.

Explain tubular heater with the help of a neat labeled diagram.

Attempt all questions

What is perfect black body? Describe Stefan-Boltzman’s law for the radiation
heat transfer.

Write a note on Globe valve.

Attempt all questions
Write a note on Belt —conveyer.
Write the basic elements of process control system.

Attempt all questions

Discuss different types of graphs and graphic representation.

A salt solution originally contains 4% by weight NaCl in water is evaporated to
5% by weight NaCl. (NaCl is a tie substance) (a) What percentage of water
evaporated? (b)What is the reduction in original solution?
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